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4C 4P
BEE E K (Customer) Zmm(Product)
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BEE A A& (Cost to the customer) a]{&(Price)
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{EF(Convenience) Eig(Place)
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bz 9, 382, 000 7,176, 000 16, 146, 000

g b = A (1,530, 000) (2,040, 000) (4, 590, 000)

Co 3, 852, 000 9, 136, 000 9, 096, 000
ETE

A 040, 000 040, 000 040, 000

Rt 2,400, 000 2,400, 000 2,400, 000

TE-T R 16, 500 16, 500 16, 500

FE-AMEL 3, 400 3, 400 3, 400

FTE-TESKHK 3, 000 3, 000 3, 000

PR H 12,000 22,400 25, 600

(TP 12,000 29, 400 34, 700

E 36, 000 45, 000 23, 000

B2 % 50, 000 09, 000 60, 000

&4 774, 100 2,020, 300 2,414, 300
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